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1. A7TYY (L 35)
ER{TAELHH At HFEHE FTEHE
(3RED) €35 Feft Bt Seid B
B 200,000 [ 162,000 | 329000 | 329,000
SFER284F9 A 23H FHOBF52531% ~ FHRFI0A 138 FH0E65521% C 195,000 99,000 23,000 23,000
D 249,000 89,000 | 321,000 | 321,000
a5t 644,000 | 350,000 | 673,000 | 673,000
2. BIEE% (B4R
EBRITAEEM st HRAHE STEHE
(3RED (&5 Fefd Bt Feft B
B © 361.000 [ 139.000 | 721.000| 721,000
FER28F10A 68 FHOFS270% ~ FE28411A8H FH2E314513% C 282,000 42,000 50,000 50,000
D 508,000 76,000 | 678000 | 678,000
&t 1,151,000 | 257.000 | 1.449,000 | 1,449,000




